R

(Relatioﬁns and l‘unctiom) |

e A;{?l,z,z};%aﬁmﬁﬁhiﬁaz} —

[BSEB, 201% (C))

(C) n(A)=n(B) . (A)
3' Z[ﬁ.4={1,2,3},3={2,5, 10, 17}3ﬁrf(x)=x2+lka'

Wf: A —.-)1.3 BT BT 2 [BSEB, 2017 (C)]
(A) THF i ard (B) UFF =
) FF qAd

(D) IFF ST=BTEH Ans. (B)
{ WCA=1(5,6); T TH=T W ot fgmm witrams wfcafir
gm %7 ) [BSEB, 2018 (A)]
(A) 8 (B) 10 (C) 16 (D) 20 Ans. (C)
L ATA={1,2,3},B=1{6,7,8) M f: A — BUF Faq &
QWﬁf(x)=x+5,@rfﬁt{ﬁ7{f@ﬁfT_ﬁ.ﬁmm
A & 2 [BSEB, 2018 (A)]
(A) 3fq:ndt (B) Th® I=BEH
(C) 3FH =BEF (D) 3T Fod
LA n@A)=3TM n(B)=2T n(AxB)=...
- [BSEB, 2017 (A)]
(A) 6 (B) 4 (C) 2 (D) 0 Ans. (A)
Lx*y=1412x+xy v xy € Q B AT Q | T
oMy Tifipar * ST =T FX | a9 2 % 3 F A e

. [BSEB, 2(09]
(4) 31 (B) 41 (C) 43 (D) 51 Ans. (A)

b f:4— B TemES weE W, AW :
‘ [BSEB, 2009; 2016 (A)]

(A) fA)c B (B) f(A)=B
© Bcfa) (D) f(B) < A

W f) = J-D (B-x) w W

A) (1, 3y (B) (0, 1) L
©) 2.2 (D) =& q FE Ta Ans. (A)

L3 f. g g e @ oA A £ = 2043

Ans. (B)

Ans. (B)

[BSEB, 2009]

fig! (x) < | [BSEB, 2009]
. '

(A) 2% _3 (B) __x2

©, X+3 D) i ¥ A TE Ans. (B)

2

11.

12.

13.

14.

16.

18.

19.

(C) n? gey

zl‘rzf(x)+2f(1—x)='x2+2\;/xeR??I’f(x)z

[BSEB, 2010]

(A) -2 (B) 1
(€) %(x—2)2 (D) ZT8 ¥ BE T8 Ans. (O)

A * G & WA R fF a*b=d + bW (1*2)

6% [BSEB, 2010]
(A 12 (B) 28 -

(C) 61 (D) 3 ¥ FS T& Ans. (C)
a9 R={(1, 3), 4,2),(2,4),(2,3),3, )} TF=T A=
{1,2,3,4) W Tay g 2 " [BSEB, 2011]
(A) @O (B) W .

(C) wHfq (D) 3H ¥ g T& Ans. (C)
I fFRHRVE f)=5x+4T, Ml H I
S 20T 2 be [BSEB, 2011]
(A £ B) Xy (C x—4 D X_5

Ans. (C)

- A={(1,2),(1,1),(2,2),2,1)} 3 T R, A T T&H

T A @RS : ,
(A) =M% (Transitive) (B) e (Reflexive)
(C) AT (Symmetric) (D) @E T& (None) Ans. (D)

AT A={1,2,3,4,...n} 3 & o7 f: A — B qfofag
& & fa=

- |
(A) 3n  B)|r=l (©) |n (D) n Ans. (C)

. e (If)A={1',2,3},B={5,6,7}ﬂﬂTf:A—>BQ$W

TN f)=x+4 f 6T THR T Bo 22
(A) 3IFH 3=ST< (Many-one onto)

- (B) 39T & (Constant Function)

(C) TFs F=DTH (one-one onio)

(D) 3Fq:& (into) Ans. (C)
‘—'ﬂ';l%‘lﬂ?f:R—)R,f(x):Zﬁ—lW Y v &, 99
f’ :

(A) 22 +1 B) @)®+1

1
(D) (1+x)3
2

@WWAWM@@@MW
AR
(A) n gy

(€) (1-2x)? Ans. (D)

(B) 2 g@ay
(D) or'gay

Ans, ((



20. sin®0 FT 3E FA T :
(A) m? (B) & (C) 2m (D) g Ans. (B)

21. sin™ [log, (x/3)] &1 Hid & :
(A) [1,9] B) [-1,9] (O) [-9, 11 (D) [-9, -1]

Ans. (A)
22. ®AT f(x) = sin*x + cos*x T IMEIFSA © :
(A) © (B) g
(C) 2m (D) 1€ T& (None) Ans. (B)

.2
23. 1mvff(x)=\/10g10(5x4x Ja;r s ®

(A) [1,4] (B) [1,O0] (C) [0,5] (D) [5,0]
Ans. (A)

24, BT f(x) =log (x+Vx2+1) & 3fEw = -
(A) 99 %1 (even function)
(B) 99 (odd function)
(C) 3Edf BT (periodic function)
(D) T A 9 3 T & fa9F (neither even or odd function)

, Ans. (B)

X +x+2 )

25 fW) =g T T W &

1 7 11
(A) L>) (B) (73) (©) (1’ g) (D) (L7)

Ans. (B)
26. A& f: R>R 3T THR IRAMT & & f(x) = 3 -2 7@
fof (x) g [BSEB, 2013]
(A) X3 (B) x3 (C) 3B -x) (D) * Anms. (D)
27. qredfas Gl & =4 ¥ we B 7 S
ey § ? (BSEB, 2018 (A)]

(A) Fae AT (only symmetric)

(B) HaeT G (only transitive)

(C) FadT TWJ<T (only reflexive)

(D) J&FaT TEY (equivalence) ~ Ans. (B)
28, G R, &l R={(2,2),(3,3),(2,3)3,2),3, 1 (2, D},

=TT A = {1,2,3) T M T 7 2 [BSEB, 2009]

(A) I (Reflexive)

(B) §HMT (Symmetric)

(C) I T&y (Equivalence relation) |

(D) G (Transitive) : Ans. (D)
29, "F faam fF A={1,2,3} W TP &g R={(1,2),(2,3)

(1, 1)} f&m T 1 A x A F I @S RH Wi

ST fp TROMA G " B ST ?
fema : [BSER, 2017 (A)]

A G2 ® @D © @2 D (1,3)
~ Ans. (D)

wﬁm:u,z,n,ﬁra,znﬁw’r‘wm@mﬁ

I T A T g & Fehar 2 2 (BSER, 2017 (A))
(A) 3 B) 1 (€) 2 (D) 4 Ans. (C)

30.

31.

33.

37.

38.

39.

41.

ﬁ N
={1,2,3} @ (1,2)32%1%3% 7T o

T fE A I

2 fig P T 2 1

(A) 4 (B) 3 (C) 2 ﬁ;D) Ans, (D)
= =x, Y x 'xze A—B

(B) 3 (constant)

(A) UFH (one-one) = >4 (many-one)

(C) IM=BTeH (onto)

Alls.(A)
F: A — B 3T=SEF el & e
(A) f(A)c B (B) f(A)=B
(C) f(A)D B (D) f@)* 5 Ans.
f: A — B 3fad qm, A =B (BSEB, 200
cB (B) f(A)=
:?») J;J(i)f (A) D) fB A Ans. (4)

o f1 RoR ST f () = 2 A f 300 T B 2

(A) injective, not surjective
(B) surjective, not injective
(C) bijective

(D) neither injective nor surjective Ans, ()
T % A=(1,2,3, ... n} A A bijective BT f: Ay

sfefa & T © 2

(A) {B)

(C) % (n m) (D) (n-Dm Ans. (B
I f: ROR TR £(x) = 3x — 4 A1 £ (x) F=farEa ¥ 3k
2 2 [BSEB, 2017 (A), 2017 (C)]

"1 1

(A) 3 (x+4) (B) 3 x-4)

(C) 3x-4 (D) undefined Ans. (A)
& f: RORTH ®AT &, A 1, R>R T B | 4 f
a2 . [BSEB, 2016 (C)
(A) THEH A (B) T=BIEH

(C) THF T=BTEH (D) 3TTFF STBTEF Aps. (O
A 6 A = {1, 2, 3) Ffafes & feg v £ A0AT
AT FA T TE BT 2 g, 2018 (A), 208(C)
(&) 1112, 2), G}y {(1,2), 2, 1, G, 1}
© {(1,3),3,2), 2, D} (p) {(1,2), (2,3), 3, D}
Ans. (B)
TR f: R>R ST f(x) = 22— 3 fepefee’
5 mer B 3 x x+ 23 (fof) (1)
(A) 1 (B) 0 () 2 D) -1 Ans.‘(l
Tt & gy & 0 | ‘
T, WS (a, b} ¥ fromary Wit A T ¢
" (BSEB, 20
(A) (B) 10 (C) 16 (D) 20 Ans
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